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Read Along: Splvak 113 122 HW1 7 on web by mldnlghtl
—No news yetontt3. — — — —
Old riddle (sol'n at end): Can you fit 4 axb rectangles in one (a+b)"2 square? Can you fit 27 axbxc boxesgl
(a+b+c)"3 cube? Why do | care?
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Hour 62 MAT257 Analysis Il on March 17, 2021: Forms on manifolds, orientations.

]« .l‘——'_—-“_
Read Along: Spivak 113-122. / \% e
TT3 Report

Oid riddTe (sol'n at end). The Moscow Subway Problem: Can you fit a box of dimensions a'xb'xc' inside [ %

—abox of dimensions axbxc, if a'+b'+c'>a+b+c?
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Hour 63 MAT257 Analysis Il on March 19, 2021: Orientations. o ) Q\ l.‘, sgj /\ Q 9
Read Along: Spivak 113-122. ) 01¢ KLjweov
~Old riddle (sol'n at end). On any pair mmjrwrjmmgrumemes?
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